INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

VIGO 36 in. Frameless Shower Enclosure
VIGO de 36 in. Cabina de ducha sin marco
VIGO 36 po. Cabine de douche sans cadre

MODEL NUMBER / NUMERO DE MODELO / NUMERO DE MODELE VG6013

PRODUCT FEATURES / CARACTERISTICAS DEL PRODUCTO / CARACTERISTIQUES DU PRODUIT

- Magnalock™ technology: Full-length magnetic catch keeps door tightly closed and prevents water leaks 1%

- Seal-Thru™ technology: Strong seal strips along the entire length of the door prevent water leaks
- Consistent finish: Ensures the hardware finish is consistent throughout and guaranteed to match all other VIGO products

- Easy to clean: High-quality stainless steel constructed hardware easily wipes clean for a lasting sheen

- Tecnologia MagnaLock™: el pestillo magnético de longitud completa mantiene la puerta bien cerrada y evita fugas de agua

- Tecnologia Seal-Thru™: fuertes tiras de sellado a lo largo de toda la puerta evitan fugas de agua

- Acabado consistente: asegura que el acabado del hardware sea consistente en todo y garantiza que coincida
con todos los demas productos VIGO

- Féacil de limpiar: Los herrajes fabricados en acero inoxidable de alta calidad se limpian facilmente con un pafo para obtener
un brillo duradero

- Technologie MagnaLock™ : le loquet magnétique sur toute la longueur maintient la porte bien fermée et empéche les fuites d'eau
- Technologie Seal-Thru™ : des bandes d'étanchéité solides sur toute la longueur de la porte empéchent les fuites d'eau REGISTER YUUR PRUDUCT
- Finition homogeéne : Garantit que la finition du matériel est homogéne et garantie pour correspondre a tous les autres produits VIGO

REGISTRAR SU PRODUCTO

- Facile a nettoyer : la quincaillerie en acier inoxydable de haute qualité se nettoie facilement pour un éclat durable

CERTIFICATE & WARRANTY / # CERTIFICADO Y GARANTIA / CERTIFICAT & GARANTIE NOTE / NOTA / REMARQUE

ENREGISTREZ VOTRE PRODUIT

ANSI 297.1 and 16 CFR 1201-certified glass VIGO reserves the right to modify/update all hardware and glass
All VIGO Shower Door have a Limited Lifetime Warranty components based on bettering the product for the end user's
experience. If you have any questions contact VIGO Tech .

Vidrio certificado ANSI Z97.1y 16 CFR 1201 Support at 1-866-591-7792. In order to activate your warranty,
Todas las Puertas de Ducha VIGO tienen una Garantia Limitada de Por Vida. VIGO se reserva el derecho de modificar/actualizar todos los you must register your product.

tes d tal y vidri la finalidad d ji | . .
ANSI 207.1 ot 16 CFR 1201 - Verre certfié . » broducto para a sxperiencia del usuario final. S fene aiguna Es necesario registrar
'I.'ou.tsrzs I\es.portes de douche VIGO bénéficient d’une garantie de qualité pregunta, comuniquese con el Servicio Técnico de Productos su producto para activar su garantia
limitée a vie. VIGO al 1-866-591-7792

Pour activer votre garantie,

VIGO se réserve le droit de mod\fvler/_megreya jour tout le male_nel vous devrez enregistrer votre produit.
et les composants en verre avec I'objectif d’améliorer le produit
pour I'expérience de I'utilisateur final. Si vous avez des questions,
veuillez contacter le support technique VIGO en appelant
1-866-591-7792.

<>

- LIFETIME -

N
Grrass

A SAFETY PRECAUTIONS / PRECAUCIONES DE SEGURIDAD / PRECAUTIONS DE SECURITE

This Installation Guide uses the following symbols to indicate important information. Always observe the instructions indicated by these symbols.

Esta guia de instalacion utiliza los siguientes simbolos para indicar informacién importante. Preste atencion siempre a las instrucciones indicadas con estos simbolos.
Ce guide d’installation utilise les symboles suivants pour indiquer des informations importantes. Respectez toujours les instructions indiquées par ces symboles.

A WARNING / ADVERTENCIA / AVERTISSEMENT
Instructions that, if ignored, could result in death or serious personal injury caused by incorrect handling or installation of the product. These instructions must be observed
for safe installation.

Instrucciones que, si son ignoradas, podrian provocar la muerte o lesiones personales graves debido una manipulacion o instalacion incorrecta del producto. Estas
instrucciones deben ser observadas para una instalacion segura.

Des instructions qui, en cas d’étre ignorées, pourraient entrainer la mort ou des blessures graves causées par une manipulation ou une installation incorrecte du produit.
Ces instructions doivent étre respectées pour une installation en toute sécurité. A A A A
P P vigoindustries.com/register

® IMPORTANT / IMPORTANTE / IMPORTANT

Maintenance and other important non-personal injury and non-material damage instructions or statements that should be observed.
Instrucciones o declaraciones sobre mantenimiento para evitar dafios no personales y no materiales que deben ser observadas.
Des instructions ou déclarations importantes sur I'entretien ou d’autres sujets, qui ne causent pas ni de blessures ni de dégats non matériels a étre observées. ACTIVATE NUW

s

! i |

ES SUMAVIENTE REGOMENDABLE AJUSTAR LA UNIDAD EN SECO PREVIO A GUALQUIER INSTALACIGN. iACTIVELA AHORA!
IL EST FORTEMENT CONSEILLE D’AJOUTER A SEC L’APPAREIL AVANT L’INSTALLATION.

ACTIVEZ-LA MAINTENANT

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

PLEASE READ INSTRUCTIONS BEFORE PROCEEDING / POR FAVOR, LEA LAS INSTRUCCIONES ANTES DE PROCEDER CON LA INSTALACION /
VEUILLEZ LIRE LES INSTRUCTIONS AVANT DE PROCEDER

Parts List / Lista de partes / Liste des piéces

7
~ ~ @) -F
)
PLRT)
@ ra
Ey
h ~ % /® ”
AQY

© 4

GLASS THICKNESS 3/8" / ESPESOR DEL VIDRIO 3/8" / EPAISSEUR DU VERRE 3/8"
NOTE: INSTALLATION MUST BE DONE BY A QUALIFIED, LICENSED PROFESSIONAL. / NOTA: LA INSTALACION DEBE SER REALIZADA POR UN PROFESIONAL CALIFICADO Y CON LICENCIA. /
REMARQUE : L'INSTALLATION DOIT ETRE EFFECTUEE PAR UN PROFESSIONNEL QUALIFIE ET LICENCIE 2

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Parts List / Lista de partes / Liste des piéces

1pc 1pc 1pc

Wall mount bracket fixed panel Wall mount bracket door panel
Panel fijo de soporte de montaje en pared Panel de puerta con soporte de montaje en pared
Support de montage mural panneau fixe Panneau de porte avec support mural

Fixed panel holder
Soporte de panel fijo
Support de panneau fixe

98257 98258 98259

oo wo | [ toc

Top rail Fixed panel Door panel

Riel superior Panel fijo Panel de la puerta

Rail supérieur Panneau fixe Panneau de porte

98255 97081 97082

ol | we | [ oo
Handle assembly ' Vertical rail for fixed panel Vertical rail for door panel
Partes de la manija Carril vertical para panel fijo Riel vertical para panel de puerta

Assemblage de la poignee Rail vertical pour panneau fixe Rail vertical pour panneau de porte
I=-——
98252 98253
—_—

2pc 1pc 1pc

(]

98256

-
B e0 == =

I Il

Threshold clip L&R Door threshold Threshold clip
Clip de umbral L&R Umbral de puerta Clip de umbral
Clip de seuil L&R Seuil de porte Clip de seuil
98260 98254 98261

1pc 1pc 1pc

Seal strip for fixed panel vertical rail ) Magnetic seal strip for fixed panel ) Magnetic seal strip for door panel ‘
Tira de sellado para riel vertical de panel fijo Junta magnética para panel fijo Tira de sellado magnético para panel de puerta
Bande d'étanchéité pour rail vertical Bande de joint magnétique pour Bande de joint magnétique pour panneau de porte

panneau fixe panneau fixe
JIESSSSN 96078BLK ‘ ,
96085BLK 96077BLK INIPN

Seal strip for door panel vertical rail Door bottom seal strip Hex screw 1 5/8"
Tira de sellado para riel vertical de panel de puerta Tira de sellado inferior de la puerta Tornillo hex 1 5/8"
Bande d'étanchéité pour rail vertical de panneau de porte Bande d'étanchéité bas de porte Vis hex 1 5/8"
96086BLK f 96076BLK v 98039

8pc . 6pc Tpe

Plastic anchor Cross round head tapping screws 4*40mm Cross round head tapping screws 4*30mm
Ancla de plastico Tornillos autorroscantes de cabeza redonda cruzada 4*40mm Tornillos autorroscantes de cabeza redonda cruzada 4*30mm
Ancre en plastique Vis autotaraudeuses a téte ronde cruciforme 4*40mm

98038 98262

Vis autotaraudeuses a téte ronde cruciforme 4*30mm
98250
@ 6mm (6pc) @ 8mm (2pc)

1pc 3pc

Cross countersunk head screws 4*28mm Cross countersunk head tapping screws 4*10mm Plastic anchor
Tornillos de cabeza avellanada cruzada 4*28mm Tornillos de cabeza avellanada cruzada 4*10mm Ancla de plastico
Vis a téte fraisée cruciforme 4*28mm W Vis autotaraudeuses a téte fraisée cruciforme 4*10mm Ancre en plastique

98263 98264 98037

20| e

Screw cover @ Screw cover Allen key pack
Tapa de tornillo Tapa de tornillo Paquete de llaves allen
Cache-vis Cache-vis ® Paquet clés allen

TYPEA TYPEB TYPEC TYPED 0
98265 98266 98267 98268 98269 Misc \/
4pc 3pc 2pc 1pc

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com

Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Dimensions / Dimensiones / Dimensions

Model / Modelo / Modéle Adjustable A / Ajustable A Adjustable B / Ajustable B Door / Puerta / Fixed Panel / Height / Altura / Door Opening (C) / Apertura de puerta
/ Ajustable A / Ajustable B Porte Panel fijo / Panneau fixe Hauteur (C)/ Ouverture de la porte (C)
VGE013XXXX36 34 3/16” - 34 9/16” 34 3/16” - 34 9/16” 32 11/16” -74 7/16” 34 1/4” - 75 5/16” 76" 315/16”
(868mm - 878mm) (868mm - 878mm) (830mm - 1890mm) (819mm - 1912.5mm) (1930mm) (796mm)
Adjustable A N Adjustable B
7 R .
] J_ ]
O ] ]
' 1
P :
] ]
i i
— I ] ]
] ]
] ]
] ]
] ]
P i
- E
] E ]
[t [} et : N :
[To}
] ] ]
1 | 1 o '
M ! = | ] [ ]
: : Lo !
) ] | ] AN ]
] ] ] ]
< ] ] ] ~ ]
2 ' ' ! ™~ !
© : : P :
I ] ] ] ]
] ] ] ]
] ] ] ]
] ] ] ]
] ] ] ]
| I | ] ]
| A ] ] ]
: ; ; :
N (11| I e et I CEE PP Ll
] ] ] L H :
] ] ] ]
] ] ] M ]
| ] ] H ]
| ] ] ]
| ] ] ]
] ] | ]
] ] ] ]
P4 : :
— ) i ! i i i
N ' - -
] ]
: : : 21/4"/57mm| |
] ] ] = ]
] I ] ] ]
[} + P e e L L L L L T T -
| ]
| ]
tecccccc——— H
- Fecmcccccc e e FT==————ee——— -
L : T 1 :
] ]
i E i
] E ]
—_ ] 0 ]
Q | o i
cC H [ H
@®© ] = ]
o ] ~ < ]
Poqe Y
3 frmmmmmmmmmm e i 1" | 25mm N :
: - — - N)
Door opening Ral ' : H i
Lo 1 1 = ' 1
] ] ]
: ]
L4
: : ’
| ] :
4 [} 1
i : i
| ]
. .

VIGO strongly recommends this installation be completed by a licensed professional.
Installation of door unit requires at least two people.

VIGO recomienda firmemente que esta instalacién sea completada por un profesional
con licencia. La instalacion de la puerta requiere al menos dos personas.

VIGO recommande fortement que cette installation soit complétée par un
professionnel licencié. Linstallation de I'unité de porte exige au moins deux
personnes. 4

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com

Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Left - Right Installation / Izquierda - Instalacién derecha / Installation de gauche a droite

The clear glass model has a reversible door and can be installed to the right or left side. The matte glass and fluted glass model is not reversible and
the direction of installation is specific to the model number. The textured side of the matte glass and fluted glass unit should always be installed on
the outside of the unit. (see configuration diagram below) / El modelo de cristal transparente tiene una puerta reversible y se puede instalar a la
derecha o a la izquierda. El modelo de vidrio mate y vidrio estriado no es reversible y la direccion de instalacion es especifica para el nimero de
modelo. El lado texturizado de la unidad de vidrio mate y vidrio estriado siempre debe instalarse en el exterior de la unidad. (ver diagrama de
configuracién a continuacion) / Le modele en verre clair a une porte réversible et peut étre installé a droite ou a gauche. Le modéle verre mat et verre

cannelé n'est pas réversible et le sens de pose est spécifique au numéro de modéle. Le coté texturé de I'unité de verre mat et de verre cannelé doit
toujours étre installé a I'extérieur de I'unité. (voir schéma de configuration ci-dessous)

FIG. 1A (GLASS CONFIGURATION DIAGRAM)
FIG. 1A (DIAGRAMA DE CONFIGURACION DEL VIDRIO)
FIG. 1A (DIAGRAMME D’INSTALLATION VERRE)

L060
N / /
W N | —
e’ 0"
R 9"1 Rig"' .
DOOR
—
\ N RIGHT INSTALLATION
DOOR PANEL SIDE GLASS PANEL
\ 4 \
—_
leg le '
Qllen t Ung
. DOOR
1060 —
\XV v LEFT INSTALLATION

SIDE GLASS PANEL DOOR PANEL

' Important / Importante / Important

- Verify that the overall size of the shower door opening is appropriate for the shower enclosure. / Verifique que el tamafo total de la abertura de la puerta de la ducha sea apropiado para la cabina de
ducha. / Vérifiez que la taille totale de I'ouverture pour la porte de la douche est adaptée a la cabine de douche.

Due to individual site variations, exact guidelines for every situation cannot be supplied. The recommended framing and dimensional requirements are shown for a typical application and may vary
depending on the site requirements. / Debido a las variaciones individuales de los sitios, no se pueden proporcionar directrices exactas para cada situacion. Los requisitos de estructura y dimensiones
recomendados que se indican son para una aplicacion tipica y pueden variar segun los requisitos del sitio especifico. / En raison des variations d’un site a I'autre, on ne peut pas fournir des directives

exactes pour chaque situation. Les exigences d’encadrement et de dimensions recommandées sont indiquées pour une application typique et peuvent varier en fonction des exigences du site
spécifique.

+ To prevent damage to the finish, you should protect the shower cabin bottom with a cardboard protector before beginning the installation. / Para evitar dafar el acabado, cubra el piso de la ducha con
un protector de carton antes de iniciar la instalacion. / Pour éviter d’endommager la finition, vous devriez protéger le fond de la cabine de douche avec un protecteur en carton avant de commencer
I’installation. / Pour éviter d’'endommager la finition, vous devriez protéger le fond de la cabine de douche avec un protecteur en carton avant de commencer 'installation.

Ensure that there is sufficient structural support behind the shower wall to hold the weight of the shower door. If there is insufficient enough support, then reinforce the shower walls with wooden studs
prior to shower door installation. [SEE FIG. 1] / Asegurese de que haya suficiente soporte estructural detras de la pared de la ducha para soportar el peso de la puerta de ducha. Si no hay suficiente
apoyo, refuerce las paredes de la ducha con montantes de madera antes de instalar la puerta de la ducha. [VER FIG. 1] / Assurez-vous qu’il y a suffisamment de support structurel derriére la paroi de la
douche pour supporter le poids de la porte de la douche. Si le support est insuffisant, renforcez les parois de la douche avec des montants en bois avant d’installer la porte de la douche. [VOIR FIG. 1]

STUDS / MONTANTES / MONTANTS

S
(00

FIG.1

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST

vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 1/PASO 1/ ETAPE 1

Make sure that the ground and the wall are flat before installing.

Asegurese de que el suelo y la pared estén planos antes de la instalacion.

Assurez-vous que le sol et le mur sont plats avant 'installation.

B®b

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE

vigoindustries.com




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 2/ PASO 2 / ETAPE 2

Measure the distance from the wall to the vertical guide rails on both sides to ensure that there is enough space for installation; Use a level to keep the Vertical Rail level, draw a line for positioning,
drill a hole, insert a 6mm white plastic anchor, and lock the Vertical Rail with 4*40mm screws. (Identify the vertical guide rail A of the door panel and the vertical guide rail B of the fixed panel before
installing)

Mida la distancia desde la pared hasta los rieles de guia verticales en ambos lados para asegurarse de que haya suficiente espacio para la instalacion; Utilice un nivel para mantener el riel vertical
en posicion vertical, dibuje una linea para colocarlo, taladre un agujero, inserte un anclaje de plastico blanco de 6 mm y bloquee Yy fije el riel vertical con tornillos de 4*40 mm. (Preste atencién para
distinguir la guia vertical A del panel de la puerta y la guia vertical B del panel fijo)

Mesurez la distance entre le mur et les rails de guidage verticaux des deux cotés pour vous assurer qu'il y a suffisamment d'espace pour I'installation ; Utilisez un niveau pour maintenir le rail
vertical a la verticale, tracez une ligne pour le positionnement, percez un trou, insérez une ancre en plastique blanc de 6 mm, puis verrouillez et fixez le rail vertical avec des vis de 4 x 40 mm.
(Attention a distinguer le rail de guidage vertical A du panneau de porte et le rail de guidage vertical B du panneau fixe)

1/4"
(6 mm)

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 3/ PASO 3/ ETAPE 3

Locate the position of the Wall mount bracket base, draw a line mark, drill a hole, insert an 8mm White plastic anchor, and lock and fix the Wall mount bracket base with a Hex screw 1 5/8".
(Identify the aall mount bracket for door panel A and fixed panel B before installing.)

Ubique la posicién de la base del soporte de montaje en pared, dibuje una linea, taladre un orificio, inserte un anclaje de plastico blanco de 8 mm y bloquee Yy fije la base del soporte de montaje en
pared con un tornillo hexagonal de 1 5/8". (Preste atencion para distinguir el soporte de montaje en pared para el panel de la puerta A y el panel fijo B.)

Localisez la position de la base du support de montage mural, tracez une ligne, percez un trou, insérez une cheville en plastique blanc de 8 mm, puis verrouillez et fixez la base du support de
montage mural avec une vis hexagonale 1 5/8". (Faites attention a distinguer le support de montage mural pour le panneau de porte A et le panneau fixe B.

L 5/16"

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 4 / PASO 4 / ETAPE 4

Insert the fixed panel into vertical rail B, and then install the magnetic seal strip for fixed panel. Finally, install the threshold clip of the door panel.

Inserte el panel fijo en el riel vertical B y luego instale la tira de sellado magnético para el panel fijo. Finalmente, instale el clip Umbral del panel de la puerta.

Insérez le panneau fixe dans le rail vertical B, puis installez la bande de joint magnétique pour panneau fixe. Enfin, installez le clip de seuil du panneau de porte.

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Installation Steps / Pasos para la instalacién / Etapes de I'installation

VIGO

@ STEP 5/ PASO 5/ ETAPE 5

Install magnetic seal strip for door panel. Then insert door panel into threshold clip.
Instale la tira de sello magnético para el panel de la puerta. Luego inserte el panel de la puerta en el clip de umbral.”

Installez la bande d'étanchéité magnétique pour le panneau de porte. Insérez ensuite le panneau de porte dans le clip de seuil.

Q\

[ . Lk & | T B S

U S
b — 0

'
|
.
t
|
:
|
|
+
1
|
|

a

\

=

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE

vigoindustries.com



INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 6 / PASO 6 / ETAPE 6

Place wooden blocks at the bottom of the door panel to adjust the level to ensure that the magnetic seal strip is installed properly.
Coloque bloques de madera en la parte inferior del panel de la puerta para ajustar el nivel y asegurarse de que la tira de sellado magnético esté instalada correctamente.

Placez des blocs de bois au bas du panneau de porte pour ajuster le niveau afin de vous assurer que la bande de joint magnétique est correctement installée.

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE

vigoindustries.com




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 7/ PASO 7 / ETAPE 7

Punch holes on the Vertical rail for door panel; lock and fix with 4*10mm screws, and cover the screws with screw covers; Insert the seal strip for fixed panel on the Vertical rail for fixed panel;
Remove the wood block afterwards.

Haga agujeros en el riel vertical para el panel de la puerta; bloquee y fije con tornillos de 410 mm y cubra los tornillos con tapas para tornillos; Inserte la tira de sellado para panel fijo en el Riel
vertical para panel fijo; Retire el bloque de madera después.

Percez des trous sur le rail vertical du panneau de porte ; verrouillez et fixez avec des vis 4*10mm et couvrez les vis avec des cache-vis; Insérez la bande d'étanchéité pour panneau fixe sur le rail
vertical pour panneau fixe ; Retirez ensuite le bloc de bois.

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE

vigoindustries.com




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

Installation Steps / Pasos para la instalacién / Etapes de I'installation

STEP 8/ PASO 8 / ETAPE 8

Install Top rail according to the direction of door opening; Loosen the screws of Wall mount bracket and Fixed panel holder, and put them into Top rail; Push the Wall mount brackets at both ends
into the Vertical rail, and then lock them into position; (Note: Use 4*28mm to lock and fix the Wall mount brackets to the Vertical Rail, as shown in Figure 4) Adjust the distance between the Fixed
panel holder and the edge, lock it and cover it with a screw cover.

Instale el riel superior de acuerdo con la direccion de apertura de la puerta; Afloje los tornillos del soporte de montaje en pared y el soporte del panel fijo y coléquelos en el riel superior; Empuje los
soportes de montaje en pared en ambos extremos en el riel vertical y luego bloquéelos; (Nota: use 4*28 mm para bloquear y fijar los soportes de montaje en pared al riel vertical, como se muestra
en la Figura 4) Ajuste la distancia entre el soporte del panel fijo y el borde, bloquéelo y cubralo con una cubierta para tornillos.

Installez le rail supérieur en fonction du sens d'ouverture de la porte ; Desserrez les vis du support de montage mural et du support de panneau fixe, et placez-les dans le rail supérieur ; Poussez les
supports de montage mural aux deux extrémités dans le rail vertical, puis verrouillez-les ; (Remarque : utilisez 4 x 28 mm pour verrouiller et fixer les supports de montage mural au rail vertical,
comme illustré a la figure 4) Ajustez la distance entre le support de panneau fixe et le bord, verrouillez-le et recouvrez-le d'un cache-vis.

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 9/ PASO 9 / ETAPE 9

When installing the handle, make sure it’s in the correct direction; when installing, tear off the adhesive film at the bottom and stick it on the Door panel;
Install the Seal strip for door panel and Door bottom seal strip; apply silicone on the joint of the adhesive strip.

Al instalar el mango, asegurese de que esté en la direccion correcta; al instalar, retire la pelicula adhesiva en la parte inferior y péguela en el panel de la puerta;
Instale la tira de sellado para el panel de la puerta y la tira de sellado inferior de la puerta; aplicar silicona en la unién de la tira adhesiva.

Lors de I'installation de la poignée, assurez-vous qu'elle est dans la bonne direction ; lors de I'installation, déchirez le film adhésif en bas et collez-le sur le panneau de porte ;
Installez la bande d'étanchéité pour le panneau de porte et la bande d'étanchéité inférieure de la porte ; appliquer du silicone sur le joint de la bande adhésive.

=2

Inside

s
NI

Inside

T
|
|
|
|
[tk |

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST

vigoindustries.com

Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

Installation Steps / Pasos para la instalacién / Etapes de I'installation

‘ STEP 10 / PASO 10 / ETAPE 10

Remove Magnetic seal strip for fixed panel, install Door threshold; Place the threshold clip L or R, draw a line for positioning, drill a hole, insert the Green anchor, and then lock and fix the clip with
4*30mm screws; Apply silicone to the bottom of the seal strip of the Door panel and fixed panel.

Retire la tira de sellado magnético para el panel fijo, instale el umbral de la puerta; Coloque el clip de umbral L o R, dibuje una linea para el posicionamiento, taladre un orificio, inserte el anclaje verde y
luego bloquee vy fije el clip con tornillos de 4*30 mm; Aplique silicona en la parte inferior de la tira de sellado del panel de la puerta y el panel fijo.

Retirez la bande d'étanchéité magnétique du panneau fixe, installez le seuil de porte ; Placez le clip de seuil L ou R, tracez une ligne pour le positionnement, percez un trou, insérez |'ancre verte, puis
verrouillez et fixez le clip avec des vis 4*30mm; Appliquez du silicone au bas de la bande d'étanchéité du panneau de porte et du panneau fixe.

A\

AR

2

.,
1
|
[
|
T
4
[
|
|

=
(A
\Y

- b -

P ———————n

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST vigoindustries.com
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE




INSTALLATION MANUAL / MANUAL DE INSTALACION / INSTALLATION MANUEL VIGO

Installation Steps / Pasos para la instalacién / Etapes de I'installation

@ STEP 11 / PASO 11 / ETAPE 11

Cover the screw cover of the hinge, apply silicone on the connection between the rail and the wall, the threshold and the threshold clip (make sure to apply evenly). Avoid getting the shower door wet for
at least 24 hours after application.

Cubra la tapa del tornillo de la bisagra, aplique silicona en la conexién entre el riel y la pared, el umbral y el clip del umbral (asegurese de aplicar uniformemente). Evite mojar la puerta de la ducha
durante al menos 24 horas después de la aplicacion.

Couvrez le cache vis de la charniére, appliquez du silicone sur la liaison entre le rail et le mur, le seuil et le clip de seuil (assurez-vous d'appliquer uniformément). Evitez de mouiller la porte de la douche
pendant au moins 24 heures aprés |'application.

Inside

OUTSIDE INSIDE

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 9:30am - 5:30pm EST
Servicio Técnico de Productos Vigo (866) 591-7792 (Opcién 2) Lunes a viernes de 9:30am a 5.30 pm EST
Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 9h30 a 17h30 HNE

vigoindustries.com




/\ WARNING

This product can expose you to lead, a chemical known to the State of
California to cause cancer and reproductive harm.

For more information, visit:
www.P65Warnings.ca.gov

/\ ADVERTENCIA

Este producto puede exponerlo al plomo, un quimico reconocido por el
Estado de California como causante de cancer y dafnos reproductivos.

Para mas informacion, visite:
www.P65Warnings.ca.gov

/\ AVERTISSEMENT

Ce produit peut vous exposer au plomb, un produit chimique reconnu par
I'Etat de Californie comme causant le cancer et des dommages a la
reproduction.

Pour plus d’informations, visitez
ww.P65Warnings.ca.gov

VIGO Product Support (866) 591-7792 (Option 2) Monday - Friday 8:30am - 5:30pm EST

Servicio Técnico de Productos Vigo (866) 591-7792 (Opcidn 2) Lunes a viernes de 8:30 am a 5.30 pm EST vigoindustries.com

Service aprés-vente VIGO 1-866-591-7792 (Option 2) du lundi au vendredi de 8h30 a 17h30 HNE






